FARERLAHRE

AR R RIRGET A
Hix B~ %

ERB Bl (@) | FEF | RESAD) | FEF (FERIAMD)|F2FEFRELETHF

99 & 4,608 14.3 4,423 1.73 185 -397

100 # 4,924 6.9 4,582 3.59 342 -55

101 & 5,072 3.0 4,807 4.90 265 210 5.17
99;10_; f; 2. 4,868 4,604 298 --

102 # 5,750 13.37 5,021 4.45 729 939

103 # 5,993 4.23 5,181 3.19 812 1,751

104 & 6,036 0.72 5,381 3.86 655 2,406 4.91(2.0)
1027104 = = 5926/ 21.7 5194/ 12.8 732 -

105 & 5,753 -4.69 5,684 5.63 69 2,475

106 & 5,900 2.56 5,998 5.52 -98 2,377

107 & 6,061 2.73 6328 5.50 -267 2,110

108 # 6,224 2.69 6,566 3.76 -342 1,768 4.69(1.91)

109 & 6,278 0.87 6,954 591 -676 1,092
1057109 = = 6,043 2.0 6,306 21.4 263 -

110 & 7,119 13.39 7,274 4.60 -155 936/ 5.17(2.11)

111 & 7,602 6.78 7,498 3.08 103 1,040 5.17(2.11)

= BE A SR
299 & 4 % ik

Py Fodn oo

3.7l T »BTR Ag g hor o

2,
"
;‘__’\

YR nE T EaBch Al L R
d 4.55%4 A 5 5.17% > £ 99~101 & 2 ifig e 4 A T8 0 517% 45 33 1 4




N
ys

N

2= Fid
N W

N

—
a1

A

o

A1d

]
Z N\

2023.0%4.12




—  (EORE R ERARAGE

55 94

R A R B — BB (AR
e R0 AT R T E R A
S — (8 B R - muﬁ@%~%w \

TPFBEE% ,m%,@m 1)5% 5%33‘:?%‘? E 2 BB
By R P EET o JEE T iiks ] EEE
e FHAREE

Ilml




UIE%
Eﬂ’

.)..EE.A..

jJJJn?JZn
[EHE ”rZLIiIi—
%%ﬁii _

7/~

TER(T

T
HAPR

JERAAE

(R T

B RS AL

e A =X

e

an?la’

BERRE T TE T
2

GEAZE 1R H

S LT

- A iR

TRl

XEEFEJ&@_{
ZEEH 71:52
T '/:51‘)\&
=t EoVAN =

'—‘—’3*5

HBaFk

_./—-/—-

N TP
A% TE

S IR
SN

_./—-/—-

u@

= RG] 2



T R R R R
dEA R (T REYIH) &
= X

— (B B R RS - PR
Al — {3 SE Rk (R

) o BTl ~mMEMRE







1SR (JTEE) fRimE 2
A N s

P EE TETER (2
PRI IE FH B P
S e
ﬁ%ﬁ?ﬁﬁﬁﬁﬁm@

[
¥

il

N

SFVUMR ) B TR
A,

A = D \\>5>

H > RS R E
O




=

X0

lll’

Ullk
O

=

/L
~. 7/

N

T - (g
e

1. ARG TR W L

2.5 B ARG L T M B
(VEFHE (2) BIFFIRLEREHER

A 81 H PRl aa (S =2t - RS

B SR o ELTAE DR
S B EL BRI -

\




(CVEFFRLE BT 1.6
{IE '“Béﬁi/‘HEZLE RN IREE
R TMA] « HIRLLE R
(&) BLFFE AR 2(E H PR
fda S s S ARET AL R A -
(RE Rt 0% F- a8k A )




\

\

M PRI APSIR 2 = R M AR e AT
[ B prbéa () st AR A -

B BUAT N A BRI - T4

E;ZTZ%T)&%UE {E > HECRIEL

EolNEVIN G IV AR S

P — 18 H 2B —1{E =
g 0 R EER o

7 EﬂLi’QZﬁz

RA 4

/

R

N







) i) 0 et f




